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Iﬂt dgd@, Endereco 32 bits Dado 8 bits
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char dado;
printf(“%c\n”, dado);
printf(“%x”, &dado);
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Programacao
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int dado;

int * ponteiro;

ponteiro = &dado;
printf(“%d\n”, dado);
printf(“%x\n”, &dado);
printf(“%x\n”, ponteiro);
printf(“%x”, &ponteiro);
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Funcao malloc
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Programacao
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int * ponteiro;
ponteiro = (int *) malloc(sizeof(int));
*pointeiro = 10;

printf(*%d”, *ponteiro);
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Programacao
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int * ponteiro;

ponteiro = (int *) malloc(2 * sizeof(int));
pointeiro[0] = 10;

ponteiro[1] = 11;

printf(“%d”, *ponteiro); // == ponteiro[0]
printf(“%d”, *(ponteiro+1)); // == ponteiro[1]
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ponteiro = (char *) malloc(10);
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Funcao free
_

void free (void * ptr );




Programacao
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int * ponteiro;
ponteiro = (int *) malloc(sizeof(int));
*pointeiro = 10;

printf(*%d”, *ponteiro);

free(ponteiro);
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